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Ha: HEWH
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S EED e

g Al

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
THA D 2,134,625 2,840,225 A 705,600
= 118,820
& 1,520
Al 2,014,285
INESVEE 788,601 965,536 N 176,935
= 118,820
o= 1,520
Al 668,261
NeHEES 788,601 965,536 N 176,935
= 118,820
o 1,520
Al 668,261
NN (E= =S 380,929 508,784 A 127,855
101 e1214| 17,148 16,395 753
04 JI2ZtHI22XNSEES 17,148 16,395 753
OXNLLAEHN ADSIREX 012 17,148
ez 73,2803 x 1 x184 13,484
SaFLSE 73,280 x 1 x50 3,664
201 et d| 191,264 213,824 A 22,560
01 AP 22| H| 79,780 103,780 A 24,000
OXEMEA DN M2 27,000
Ogte=2H| 43,500
OXNEAH DEZ2HI) A28 WA 5,000
OXNEMH 2= H = 220& 10, 0000H 2,200
osd44 2,080
XA Ao g 70,0008 12 23| 1,680
ZOIt= DISHRA 29
100,000 *23| x2H 400
02 2224 111,484 110,044 1,440
OXNEHIXNAN sR2EH2 100,000
OXNYAN DEZ2H SXE S|
1,446,000 x4 | 5,784
OXNLASAH MDA Uibl 2HME 8332 4
Xl 5,700
202 o4 | 16,900 16,900 0
01 2L HI 16,900 16,900 0
OME2H SSAR 40,000& 108 x 16 6,400
O22&=E | 3,700
OXEAMH Ee&s & IHEe HMREZA
40,000 2 x35 2,800
OFE NAQ sit2 3t &0 d| 3,000
OXNLASH S Mettidl =220 Y| 1,000
203 ¢ R E A H| 3,000 3,000 0




2AM: HE D

B GRS
©: XYM== (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 A F=XH R =ZH| 3,000 3,000 0
ONELRAHZA 3,000
303 Z& 3 8,200 6,000 2,200
01 243 8,200 6,000 2,200
OXZgAN == 2= SHS AlY 8,200
306 ¢ 2 5,708 4,663 1,045
01 &3 5,708 4,663 1,045
OXEH A2dst EHI (S XNLHARH) 5,708
308 XXM SO A 40,265 40,360 A 95
N 3JN2SUHUe3&E2AE AR 40,265 40,360 A 95
OXN&AN ZBEsAY AS | 40,265
403 A X EHHS =0l A 98,444 134,642 A 36,198
02 SO 2SOIlCHEH A2 X 2 & A I 98,444 134,642 A 36,198
OXMIH XNSHEEAAL 2x2H) AU
s | 98,444
NLNMEES(EX) 1,520 1,520 0
< 1,520
202 oddl 1,520 1,520 0
< 1,520
01 SLHOIYI 1,520 1,520 0
OXZAH T Al &5 HAMRPEA(AGHED])
760,000& *23] 1,520
< 1,520
e X2 AE 46,948 46,928 20
201 L2l 39,948 39,928 20
01 At 22l 13,804 13,804 0
OXZA MR e ™2 5,000
OXNEAN HMEX 2EAHHIFEXS AMEER 500
ONAHR =5 6,000
o=l 8,000 *4H x9U «8& 2,304
02 =224l 26,144 26,124 20
OXYA AL KA B 17,110
KA JtaAH S AIAE RITE 8,180
KA ARS 2tE Y R2AIAE RAE 24| 8,930
OHsE IIALAE FANES 9,034
TNEEMNE s SIIAAE SN2 4,686
SXAAE D& 3 FXE =t 3,868
DY XUEIEXAMHA SRS
40,0003 +12& 480
202 04l 7,000 7,000 0
12O 7,000 7,000 0




2AM: HE D

B GRS
Sl XS EE (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXNEgN g2 ¢ ES 7,000
Nel+=g2dg2el 69,847 136,423 A 66,576
101 @124 dl 8,794 8,372 422
4 JI2ZHHZ22XEES 8,794 8,372 422
ON2=g HMEegs g2 X 8,794
2= 73,2803 x 18 %100 7,328
254 73,2803 x1H »20L 1,466
201 Let24d] 25,584 25,074 510
01 AP 2teltl 18,450 18,450 0
ON2=g 2t e 1,200
OMeI=+=2 Mgt d8FEE X3 3,960
OAM2 =g 2Htg DX 22lAAE 23 6,710
OAMe+=2 MY dXeR 1,130
OM2=g 1OXAM 70,0003 358 A 2,450
= 2l 3,000
02 22224l 7,134 6,624 510
OAMeI+=2 OXA =
430& *3,400& 33l 4,386
O28re dX1X 203.5& %4,5004 x33| 2,748
202 04l 5,890 5,890 0
01 = LH Yl 5,890 5,890 0
ON2=+=g HEH = S 3,890
OZFx+=o 2A=F 2/ HAE3I 2,000
303 &3 4,000 4,000 0
01 L4323 4,000 4,000 0
OM=g F== 2 2 KR3A AlY 4,000
308 X EHSOIA 25,579 23,574 2,005
n3J&2sotsaas 2l 25,579 23,574 2,005
OMe+=LEEANAE X2l 25,579
o Z= € Db A 125,523 123,802 1,721
101 @124 dl 33,683 31,962 1,721
0412t Z2XREES 33,683 31,962 1,721
OMNE I AT AL 16,535
2= (73,2803 +5H 622 ) x50% 11,359
FA==¢ (73,2808 x5 %1320 ) x50% 2,382
resgdsE (73,2809 x5 x4 ) x50% 733
A2+l 9,160 *10Al 2+ x5 x3& x150% 2,061
OMg=& THt=dHH 22 17,148
L Jle3 73,2803 x1H » 184 13,484
resgsd 73,2803 x 1«50 3,664
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201 Le-2d| 90,400 90,400 0
01 At 22l 90,400 90,400 0
ONEFEINA B2 (1.1/6.101F) 69,890
MR HE 5,820 +21,500= +1. 1x50% 68,822
oANE &3 7,2753 x100Z % 1. 1x50% 401
olejald H#3 24,2503 x50 * 1. 1x50% 667
OFHSHZN L SYAHEXNEL 428 2
65,0003 40 A 2,600
O22H 23 7¢ 200,000& x5& 1,000
OEZ=26H THEX(S) Y 53,0002 60% 3,180
OMgZetA 88 BTN 8XPY
40,0003 208 A 800
OMEFEIAIZAL S0 & 208 HE 3,450
=R 60,0003 230 x23] 2,760
2k Et 15,000& 2304 *23] 690
ORSH HABNIY 2g2g
100,000 »8H »23| 1,600
OMNEFEIt=2 ZALR O=HlI  200,0003 «4H 800
O=22Hl 8,000& x4 100! 3,200
ONg=el & T2 XS
150,000& 12& 1,800
OMNEZ=EIAZTAL AIRA AZHI(SER)
1,300& *202| & 80! 2,080
202 o4l 1,440 1,440 0
1 =LA b 1,440 1,440 0
OMNg=EEHL SRXZA 20,0003 »4H x18 1,440
HEFEHINAZAH(EE) 163,834 148,079 15,755
= 118,820
Al 45,014
101 @124 Hl 84,541 66,586 17,955
= 39,527
Al 45,014
03 3R (RIHY)22HES 70,067 52,981 17,086
Oz =M JIe=z(2%) 48,303
55 &
(1,951,980& »1H 102 )+(2,046, 7402 » 1 * 23,614
2%))
= 11,807
Al 11,807
65 S
(2,046, 7403 » 12 *102 )+(2, 110,490 1L 24,689
2d)
= 12,344
Al 12,345
Oy24+y
(390,390 *1H *23| )+(511,680& 1 x23] ) 1,805
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HE: GEMES
©e WSS (29 a8)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 902
Al 903
OZHZAHI 140,000 x2H x12& 3,360
oug st 40,0003 x2F x 123 960
OgZEaN=
(1,171,180& « 1 »23] )+(1,228, 040 1«23 4,799
)
O A I 4|
(92,320 *1H *10 )+(95,5362 «1H 10 ) 1,879
OF2x=gltt=
(50,0002 1 »2&= )+(50,0002  1H « 12 ) 700
OAZA22Y
(3,068,000 * 1% )+(3,273,000& 1) 6,341
Ois=¢
(140,000 * 18 x12& )+(20,0002 * 1H «12& ) 1,920
4 D12t ZE2EXNSEES 14,474 13,605 869
OMNEF=EELXZA JlE=s
(73,280 x5 «622 ) x50% 11,359
= 11,359
S EELTEPEE JYRES =
(73,2803 x5 «132 ) x50% 2,382
= 2,382
ONEFHSHZA SSHLSY
(73,2803 x5 «42! ) x50% 733
= 733
201 L2l 74,809 77,009 A2,200
= 74,809
01 At 22l 74,809 77,009 22,200
ONEFEINA S22 (1.1/6.101F)
139,777,000& *50% 69,889
= 69,889
o223 7Y 2,200
= 2,200
O= &l 8,000& »4H x85 2,720
= 2,720
202 oddl 4,484 4,484 0
2 4,484
01 = LH o4 1l 4,484 4,484 0
OMEFHSH & XX A 4,484
= 4,484
S AT A2t e 1,286,414 1,815,139 A 528,725
3 A 2el 59,250 58,700 550
I AH2e2HE 59,250 58,700 550
201 L2l 56,000 50,500 5,500
01 At 22l 52,000 47,000 5,000
OZ L&A 28+ 10,000
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2AM: HE D
2 ST At2e

SRl T Atz (cho &)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
301 €EtE2 N = 6,000 6,000 0
09 HAAHIXES 6,000 6,000 0
O2dE =M AH2d 6,000
SSE A2t 1,162,002 1,486,882 A 324,880
101 @124 8] 1,462 1,442 20
04 DIt 22 XS+ 1,462 1,442 20
OJIZMZ2UHEES 1,462
ANEAS SSEA ME=5L
81,2003 x6H +33| 1,462
201 2Bt2 | 809,040 872,640 263,600
02 324t 809,040 872,640 263,600
0332 % MA 571,040
NLEA M= 2Hb 232,000
ol AIEZ 34,740
- Al EA 23,000
- 23 EAM 5,000
- 238 B M 4,000
- 7)ASH A 2,740
AL HIIRS 274,000
- Al ZA 220,000
- 213 A 40,000
- 238 75 M 6,000
- P)AEH A 8,000
SIS AL HHY HARS 20,000
A= XAl 3,300
HINERGES 1,000
- Asx 1,000
FAH2AC I NE =2 1,000
ASi 282 5,000
OAIZZHl |Xdl 173,000
Al E AL 140,000
o3 HA 33,000
OXt&H| 65,000
206 T2 HI 20,300 20,300 0
01 M= Hl 20,300 20,300 0
O =Hl 20,300
FArzel JIHANEES I
4,500,000 =14 4,500
BArZe A% 2 AFANEESE AHF2E
4,000,000 =14 4,000
Azel A28FIES E JIEHAMTPY
5,800,000% 14 5,800




2AM: HE D
2 ST At2e

SRl T Atz (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ol FAZel JIHAMNEEE MM
2,000,000& » 14! 2,000
oIl Ar el A2 X AFSAELES UMW T
= 1,500, 000& 14 1,500
o|sl A2l A2 MIIES & JIEt X
= 2,500,000& » 14! 2,500
401 Al HI K 201 I 275,200 570,000 A 294,800
01 A& HI 273,400 568,200 A 294,800
O&EAN B3 A 250,000,000& *99.28% 248,200
OANEA L SFEHA 2HAIE ZHISA
5,000,000& 23| 10,000
OZEXE OIMSX NZEX & 15,200
03 AIE2 2 THHI 1,800 1,800 0
O&EAN B3 At 250,000,000& *0.72% 1,800
405 RHoHE S HI 56,000 2,500 53,500
01 AL ESFHSHI 56,000 2,500 53,500
OAIEA XIGH AIAE HiHEED] W
3,733,330& x150H 56,000
HY2AZH (A 59,610 59,550 60
Jl2ZH (&) 59,610 59,550 60
Jl2ZHl(HE 1) 59,610 59,550 60
201 £B-2dH| 8,000 8,000 0
01 At 22l 8,000 8,000 0
O= 2l 8,000
202 o4dl 45,790 45,790 0
01 = LH o4 1l 45,790 45,790 0
OMEYN A= Kl 45,790
203 YR =&t 5,820 5,760 60
04 EA2IYRFLH| 5,820 5,760 60
ORN2IEYRF=AHI 5,820




